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l. program pmain(input, output) ;

R e e R B

VAr max,n . integer;

e R T WA
s

begin

max . =1;

o i ———

repeat
forn:. =1 to 6—max do write('_" ;| 1);
for n . =1 to max do write(n ; 1);
for n . =max downto 1 do write(n . 1);
writeln;

max . =max-+1;

T e

until max=6;
end.
2. program p2(input,output) ;
var a . array | 1..4,1..4] of integer;

i,]sk . integer;
begin |
k. =1;
fori. =1to4do
forj. =1to4 do

begin
&[1;_11 e i
. =k*i“1;
end;

fori. =1 to4 do
forj.: =1to4do

ali,j] @ =alj,il;




fori: =1to4 do
begin
forj: =1 to 4 do
write(ali,j] : 4);
writeln;
end;
end.
3. program p3(input,output) ;
var m . integer;
procedure move(getone, putone . char):
begin
writeln(getone : 2,"'————=>' 'piitone : 2);

end:

procedure hanoi(n . integer;one, two,three ° char) ;

begin
if (n=1) then move(one, three)
else
begin
hanoi(n—1, one, three, two) ;
move(one, three) ;
hanoi(n—1, two,one, three) ;

end;
end;
begin
m. =3;

. .
writeln(" The step to moving", m : 3, 'disks' ;
hanoi{m,'1",'2",'3Y);

end.
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program p4(input,output) ; |

const counter=10;
var s . array | 1..10] of integer;
var 1,j,k,x | integer;
begin
fori: =1 to 10 do
read(s| i]); I
fori: =1 to do |

begin 1
k. =i; |
for _ to counter do . '

if (s[k]<<s[j]) then ; #
if ( ) then |
begin

K. _'-;[1];

’

slk] . =x;
end;
end; .
fori: =1 to COUNTER do write(s[i] : 3);
end.
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dihy 2

program po(input,output) ;



type node="pnode;
pnode=record

data . integer;

next . node;
end;

var

value . integer; ]

head,p,q : node;

begin
q . =NIL;
read(value) ; i« value Hi A 100
repeat
p~. data . =value;p~. next | =q;
read(value) ¥ value # IR & A 40,20, —1
until(value=—1); '

head | =p;

while(p". data<C40) do p | =p". next;
q . =new(node) ; |

q . data . =60;

-
?

!

p . =head;
while (p<<>NIL) do
begin
write (p~. data : 4);
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end ;

end.
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l. #include < stdio. h™>

main()

{ int max,n;

max=1;

do

{ for (n=1;n<{=6—max;:n"") print{("%c"," );
for (n=1;n<=max;n"") printf("%1d", n);
for (n=max;n>0;n"") printf("%d", n);
printf("\n");

b

max 3

b while(max<Z6) ;



}
2. £include <stdio. h™>

int a[4][4]={{1:2,3,4},{3,4,5,6},{5,6,7,8},{7,8,9,

10} }
void main( )
{ int 1,];
for (i=0;i<4;1"")
for (=0; <<4;;77)

for (i=0;i1<<4;i™")
{ for (j=0;7<4;;™")
printf(" %54d",al i]{j]);
printf("\n");

f
3. # include <stdio. h>
void move(char getone, char putone)
{ printf("%e————>>%c\n",getone, putone) ;
return;
)
void hanoi (int n,char one,char two, char three)

{ if (n==1) move (one,three) ;

else

{ ~hanoi (n—1,0ne,three,two) ;

move(one, three) ;

hanoi(n—1,two,one, three);
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void main( )

{  int m=23;

print{ (" The step to moving %3d diskes : \n".m);
hanoi(m,'1’,'2','3");

" RIBEEER WS (RS 4, 3141 10 40)
L Xf — R #1THE
£ include <stdio. h™>
# define COUBTER 10
vold main( )
{ ints[10]=(77,89,67,65,47,49,78,56,74,76);

Int 1,],Ks X3

for (i=0;i<< S it
L k=i
for( ;1<<COUNTER;;" )
if (sl k]<Zs[jD) ;
i ( )

{ x=sli]; ssLk]=x;}

}
for (i=0;i1<CCOUNTER; i**)printf("%d",s[i]);
}
2. BRI ST M — ek .
(20 —{40 =100
WRIGEZERT SEN 10 M EEIHTATEE SN 60 B

£ include <stdio. h™>

£ include <alloe, h™>
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struct node {
int data;
struct node * next;
/3
main{ )
int value;
struct node * head, * p, * q;

q=NULL;

scanf(" % d", &value) ; I value $§j A 100
do '
{

p—>data=value; P—>next=q;

scanf(" %d", &value) ; E value &Y A 40,20, —1
twhile (value! =—1);

head=p;

while (p—>data<(40) p=p—">next;

q= (struct node * )malloc(sizeof(struct node));

q— >value=60

p=head;

while (P! =NULL)

{ print{("%d"p—">data);
51
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